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/ " An alyzing Functions \

to help make Summary Statements about Functions

1. Sketch the graph and Describe the Shape.

2. Describe any special points (if any) and show the coordinates of their
location? (besides x- and y-intercepts)

3. Whatis the domain?
4. Whatis the range?

5. End behavior - What happens to the y-values when x increases
to +00? when x decreases to —oo?
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Axis intercepts:
a. Whatis the y-intercept? (when x=0)

b. What are the x-intercept(s)? (wheny =0)

Asymptotes:
a. Are there any vertical asymptotes? If so what are their

equations? x = 3 for example

b. Are there any horizontal asymptotes? If so what are their
equations? y = 4 for example

What kind of symmetry does this function have? (if any)
(y-axis symmetry? x-axis symmetry? rotational symmetry?)
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